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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH:r-0o’,

"PHI :g—o’ 1]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-2_0
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BfiE) | GEBATK (D) | EHRE (EAH/K) | ERERE (B/R) | XS R

G3-2 06:35 114 80.0 17.28 A FnHA@06:35 KENIEF (RE{ERSE)
07:05 114 80.0 17.28 FA| 1FiN17007:05 KEFEF (KAERKSE)
07:35 114 80.0 17.28 ;] TiE@07:35 REFEF (KHAERE)
08:05 114 80.0 17.28 1] TiHH@08:05 REFEF (KEAERE)
08:35 114 80.0 17.28 A FiEH@08:35 REFEF (KEERHE)
09:05 114 80.0 17.28 A FH#e09:05 RENFEF (REERES)
09:35 114 80.0 17.28 1] TiH@09:35 REFEF (KRFAEREE)
10:05 114 80.0 17.28 1] FiEA@10:05 KRENFEF (REEREE)
10:35 114 80.0 17.28 ;] TiE@10:35 REFEF (KEAERSE)
11:05 114 80.0 17.28 ;] FiHA@11:05 REFEF CREAEZEES)
11:35 114 80.0 17.28 Uz FifAe11:35 KREFEF (GREAERE)
12:05 114 80.0 17.28 A FiEe12:05 REEF (REERSR)
12:35 114 80.0 17.28 ;] FiHAe12:35 REMFEF CREAEZEES)
13:05 114 80.0 17.28 53] FiA@13:05 KRENFEF (REAEREE)
13:35 114 80.0 17.28 53] FiE@13:35 REEF (KEERSE)
14:05 114 80.0 17.28 53] Fiffe14:05 REEEF (KREERSE)
14:35 114 80.0 17. 28 53] FifAe14:35 KREIEF (REAERE)
15:05 114 80.0 17.28 53] FiEA@15:05 KREFEF (GREAEREE)
15:35 114 80.0 17.28 53] FiHe15:35 REFEF (REERES)
16:05 114 80.0 17.28 53] TiHH@16:05 REFEF (RAERSE)
16:35 114 80.0 17.28 53] FiEA@16:35 KRENFZF (REAEREE)
17:05 114 80.0 17.28 A FiHAe17:05 REIEF CGREEESE)
17:35 114 80.0 17.28 A FiHA@17:35 REMIEF CRAEZEES)
18:05 114 80.0 17.28 53] FiA@18:05 KRENFEF (REEREE)
18:35 114 80.0 17.28 53] FiHfe18:35 REFEF (REERES)
24t 2850.0 (25%) 2000. 0 3ZHKEC: 1800.0, PH: 6.5

FERGEERIPH (10.37) 5i&EPH (6.3) REK K, AT
FEREPH (10.37) 5FPH (6.5 REKK, FHE
#EEIRECE (1890. 0 vs 2908. 0) RS
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G3-2

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:10 87 80.0 17.28 FA| 1BRi%@07:10 B3h (KRA{EREE)
07:45 87 80.0 17.28 FA| {Ri&@07:45 Bz (GRAERE)
08:30 87 80.0 17.28 FE| 1RRi%@08:30 B (FRFAIERESE)
09:15 87 80.0 17.28 PH| 1{Ri%@09:15 B (RAEEEE)
10:05 87 80.0 17.28 FA| 1BRi%@10:05 B3h (KRAHEREE)
10:40 87 80.0 17.28 FE| 1RRi%@10:40 Bz (RFAERESE)
11:15 87 80.0 17.28 BA| {Ri&e11:15 Bzl GGRAEEE)
11:50 87 80.0 17.28 FA| 1BRi%@11:50 B3h (KRAHEESE)
12:25 87 80.0 17.28 FE| 1Rig&e12:25 Bz (REAERESE)
13:00 87 80.0 17.28 FH| 1Ri&@13:00 B (RS
13:30 87 80.0 17.28 FH| {Ri%@13:30 Bl (RAEEE)
14:05 87 80.0 17.28 FA| 1BRi%@14:05 B3h (kAEREE)
14:50 87 80.0 17.28 PH| {Ri%e14:50 Bz (RAHEES)
15:30 87 80.0 17.28 FA| 1BRi%@15:30 B3h (RAHERSE)
16:15 87 80.0 17.28 FH| 1BRi&e16:15 Bzh (GRAEREE)
17:10 87 80.0 17.28 FE| 1Ri&@17:10 B (REAERESE)
21t 1392.0 (16)%) 1280.0 32 03KEC: 1800.0, PH: 6.3

ERGEBRIR LR/ (0.52 vs 0.62), AIHEE % AENESEERESKELRE

TEREHER E STHIEARFF (60.0 :

ZRINKPRIEBRE80. 0 ml.

80.0), FIREKRFBERIE

BEXREBIPH (10.35) 5i&EPH (6.0) REK K, HRE
FEREIPH (10.35) 5FMPH (6.5 REKK, FHRE
FEIHECE (1927.0 vs 3455.0) 35
LRGEBIPH (10.4) 5i8E{E (6.3) RERK, BFRE.

EORGEBIPH (10.4) S5#AVEN (6.3) REKK, BRE.
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